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Answer Sheet word Problem with Three Addends
Directions: Drag and drop the dots to model the word problem. ‘
Solve the word problem by filling the blanks.
ecorate for C put 8 deers in our lawn,
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Directions: Solve the word problem g & - ﬂ
Explain your equation solving usi 2 3 g . ’

Directions: Solve each wg oble: \

are al i , 9 Cape lions,
ia pn$in STG Wildlife Reserve.
0 ions are in STG Wildlife Reserve?

STG Wildlife Reserve has 4 Siberia k
3 Bengal tigers, and 6 Caspian tig
and 8 rhion stickers to decorate his maphmal project. How:many/tigersare InSTGWild!

How many stickers did Kevin buy? s

S = & Y
Equatign: 4+3 +6=13 & © Equation: 5+ 9 + 1 =) !g

tigers

Equation: lions

Artic wolves, 2 Eastern wolve
nd 4 Mexican wolves in STG Wildlife R

a | How many wolves does Gina
label 8 ‘

% . Equation: \ el S Equation:
aination: I used the make ) ]

Then I added the third addend to § : 14 18 | leopards

opard Wildlife Reserve.
bian leop3&S and 7 Amur leopards
v many leopards are there now?
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Word Problem with Three Addends.
rop the pctures to model the word pron

p the pictures to mode the word problem.

Answer Shee! word Problem with Three Addends

Word Problem with T
ures to s Directions: Orag and drop the picturesto modelthe wrd probiem.

Diractions: Drag and d et
Soive

iant draws 2 tigers, 3 leopards, and 2 lions.
low many mammals does Briant draw?

‘Answer Sheet Word P

There are 7 Arabian horses, 2 Morgan horses,
and 3 Shire horses in the valley.
How many horses are there in the valley?

Word Py

There are 7 Arabian hol
and 3 Shire horses in the va
How many horses are

Sara sees 4 pandas sleeping, 8 panda:
and 5 pandas climbing trees in a breeding canter.
How many pandas does Sara see in thq

Equation: _ ) Equation:

[12]  horses

“Answer Sheet W,

, 3 leopards, and 2 lions.

There are 3 grey wolv

There are 3 grey wolves, 3 reddish wolves,
and 1 white wolf.

and 1 white wolf. How many wolves are there?
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Equation: - Equation: _3+3+1=7

[ves are there?

How many pandas does Sara see in the center?
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Equation: _4+8+5 =17

pandas
label

or Christmas, we put 8 deers in our lawn,
lers under our big tree, and 2 deers by our door.

Equation: _8 +4+2
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rd Problem with Three Addends.

To decorate for Halloween, we put 3 cat drawings on
our door, 5 on our windows, and 6 behind our bushes.
How many cat drawings do we put out all together?

Equation: ?

To decorate for Halloween, we put 3 cat drawings on
our door, 5 on our windows, and 6 behind our bushes.
How many cat drawings do we put out all together?

Equation: _3 +5 + 6 =14

Gl cite

ffes are there in all?

Equation: _4+7 +4 =15

15 giraffes
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6 bears are running up a hill. 8 bears are looking
for food. 3 bears are just out off their hibernation.
How many bears are there in all?

6 bears are running up a hill. 8 bears are lookin}
for food. 3 bears are just out off their hibernat
How many bears are there ig

Equation:

Explaination: I used double facts to add 4+4 first.
Then T added the third addend to it. 4 + 7 + 4 =8 +7 = 15

used double+2 strafPPD add 6+8 first.

4.

Word Problem with Th

Dlrections: Salve the word problom by fling

Sam found 9 brown bears, 3 black bears,
and 7 polar bears. How many bears did Sam find?

m

Sam found 9 brown bears, 3 black bears,

evin bought 2 hippo stickers, 4 elephant stickers,
and 7 polar bears. How many bears did Sam find?

d 8 rhion stickers to decorate his mammal project.

Equation: 9 *+3+7

Explaination: 2

Equation

Anwer Shee! Word Problem with Three Addends
Directions: savo the word

d Problems with Three Addends.

Kevin bought 2 hippo stickers, 4 elephant stickers,
and 8 rhion stickers to decorate his mammal project.
How many stickers did Kevin buy?

Equation:

Word Problem:

Equation:

-

Explaination: ?

ST Wit Reserve s 4 Soera ger, There are 5 Barbaryloms o Copelons,
Soengal gers, and Copln s I Al o ST Wit Resevs.

cquation; 42326213 ?g
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Equation: 9=13 Equatior
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Equation: Equation
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@ pola ears wabk sround. 9 pola beara it

5 Lankan ephants, and 7 Borneo dephints.

Equation: B+2+ Equation

] B [=] 2

Equation: E Equation: 5.+

[551] o [

S pencibor withcamel design, bt st §penciboses withcamel desigi, b st

How many pencinoses e there ol agethee? Mo many pencivoses e there ol agether

Equation Equation: Equation: 3 =15 Equation: 3
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Briant draws 2 tigers, 3 leopards, and 2 lions.
How many mammals does Briant draw?

Equation:

There are 3 grey wolves, 3 reddish wolves,
and 1 white wolf. How many wolves are there?

Equation:

I J label

fTatatate

There are 7 Arabian horses, 2 Morgan horses,
and 3 Shire horses in the valley.

6 bears are runni I 8 bears are looking
for food. 3 bears are just out off their hibernation.
How many bears are there in all?

= »,
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Sam found 9 brown bears, 3 black bears,
and 7 polar bears. How many bears did Sam'

Tabel

Explainati

Explaination:

Briant draws 2 tigers, 3 leopards, and 2 lions.
How many mammals does Briant draw?

FITARAR AT e
7

Equation: _2+3+2
[7]_ mammais
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6 bears’ " 8 bears are looki
for food ‘out off their hibernation.
How many @ there in all?

Equation: _6+8 +3 =17
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Explain: T used doubler2 strategy 1o add 6+8 first
Then I added the third addend o it. 6 + 8 + 3 = 14 + 3 = 17
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Sam found 9 brown bears, 3 black bears,
and 7 polar bears. How many bears did Sam|
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Equatio 9+3+7=19
(] ey
Tabel
EXPIATRAtIon: % wed the mate & o sretgy o 04 357 fot

Then I added the third addend to if. 9+3+7 = 9+10 = 19
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Sara sees 4 panda: , 8 pandas eatin
ands climl in a breeding cer

To decorate for Christmas, we put 8 deers in our lawn,
jeers under our big tree, and 2 deers by our door.

To decorate for Halloween, we put 3 cat drawings on
our door, 5 on our windows, and 6 behind our bushes.

4 giraffes are eating leaves on a tree top.

Howmany Rorsesara thara fn the valisy? tas see in the center w many deers do we put out all together? How many cat drawings do we put out all together? How many giraffes are there in all?
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